Fellow's Column: The Blood Urea Nitrogen/Creatinine Ratio in Preterm Infants with Patent Ductus Arteriosus

Briana Hernandez, MD, Shabih Manzar, MD

Summary:

Elevated blood urea nitrogen (BUN) and serum creatinine (SCr) ratio has been associated with acute kidney injury (AKI). Preterm infants with patent ductus arteriosus (PDA) have unique fluidelectrolyte balance in the first few days of life and are at risk of pre-renal azotemia and AKI. We studied trends in BUN/SCr ratios within the first two weeks of life of four preterm infants (one 23-week GA, two 24-week GA, and one 25-week GA) with PDA. We found a significant correlation between the BUN and SCr level, r = 0.59, p = <0.001. The BUN/SCr ratio was noted to be higher in the first week of life, which trended down in the second week. We concluded that BUN/SCr ratios could be used as an adjunct in monitoring patients' kidney function within the first two weeks of life in the extremely preterm infant with PDA. Further studies are needed to look at the normal BUN/SCr ratio ranges in extremely premature infants.

"We concluded that BUN/SCr ratios could be used as an adjunct in monitoring patients' kidney function within the first two weeks of life in the extremely preterm infant with PDA. Further studies are needed to look at the normal BUN/ SCr ratio ranges in extremely premature infants."

Introduction:

Patent ductus arteriosus (PDA) is common in preterm infants. The incidence is inversely proportional to the gestational age (GA). PDA causes significant steal in the blood flow (BF) during diastole, resulting in decreased BF in the descending aorta, compromising renal perfusion. This reduction in glomerular blood flow decreases the excretion of urea and creatinine, resulting in increased blood urea nitrogen (BUN) and serum creatinine (SCr). In addition, medications used to treat PDA inhibit prostaglandin, resulting in decreased urine output and further elevation of the BUN/Cr ratio. (1) High BUN/ SCr ratio has been associated with acute kidney injury (AKI) in critically ill children using nephrotoxic medications. (2) Preterm infants with PDA have unique fluid-electrolyte balance profiles within the first few days of life. They are at risk of pre-renal azotemia and AKI. We studied BUN/SCr ratios trends within the first 2 weeks of life of four preterm infants (one 23-week GA, two 24-week GA, and one 25-week GA) with PDA.

Case 1:

The patient was a Preterm infant with a gestational age of 23 2/7 weeks. The mother did not receive any steroids. Apgar scores were 0, 6, and 7 at 1, 5, and 10 minutes, respectively. The infant was intubated in the delivery room. One umbilical venous and two

arterial catheters were inserted on admission to the NICU. The infant was placed on a high-frequency oscillator ventilator and was started on total parental nutrition. Serum electrolytes were monitored daily while on TPN. An echocardiogram was obtained on day 3 of life.

Case 2:

The patient was a preterm infant with a gestational age of 25 3/7 weeks. The pregnancy was complicated by no prenatal care, uncontrolled hypertension, and vaginal bleeding. Apgar scores were 3, 6, and 7 at 1, 5, and 10 minutes, respectively. The infant was intubated in the delivery room. One umbilical venous and two arterial catheters were inserted on admission to the NICU. The infant was placed on a high-frequency oscillator ventilator and was started on total parental nutrition. Serum electrolytes were monitored daily while on TPN. An echocardiogram was obtained on day 3 of life.

Case 3:

The patient was a Preterm infant with a gestational age of 24 2/7 weeks. The pregnancy was complicated by premature prolonged rupture of membranes. Apgar scores were 2 and 7, at 1 and 5 minutes, respectively. The infant was intubated in the delivery room. On admission to the NICU, one umbilical venous and two arterial catheters were inserted. The infant was placed on a high-frequency oscillator ventilator and was started on total parental nutrition. Serum electrolytes were monitored daily while on TPN. An echocardiogram was obtained on day 3 of life.

Case 4:

The patient was a preterm infant with a gestational age of 24 5/7 weeks. The pregnancy was complicated by concern for placental abruption. The infant was intubated in the delivery room. On admission to the NICU, one umbilical venous and two arterial catheters were inserted. The infant was placed on a high-frequency oscillator ventilator and was started on total parental nutrition. Serum electrolytes were monitored daily while on TPN. An echocardiogram was obtained on day 3 of life.

"We found a significant correlation between the BUN and SCr levels, r = 0.59, p < 0.001 (Figure 1). The BUN/SCr ratios were higher in the first week of life and trended down within the second week (Figure 2)."

Methods/Results:

The laboratory details were collected from the electronic chart. The BUN/SCr ratio (mg/mg) is represented in the metric system (the link <u>http://www.scymed.com/en/smnxps/pspgh152.htm</u> could be used to convert to the SI system). A total of 53 samples were reviewed; 14 consecutive days were trended for cases 1, 2, and 3, while 11 days were trended for case 4 (Table 1). We found a significant correlation between the BUN and SCr levels, r = 0.59, p < 0.001 (Figure 1). The BUN/SCr ratios were higher in the first week of life and trended down within the second week (Figure 2).





Blood Urea Nitrogen (mg/dL)



Day of Life

Legend to Figures: Figure 1: Correlation Between Blood Urea Nitrogen and Serum Creatinine Levels. Figure 2: Blood Urea Nitrogen / Creatinine Ratio Trends in Preterm Infants within the First Two Weeks of Life

40

"All infants studied had a PDA during the first two weeks of life, which was managed conservatively. In these infants, we observed high BUN/ SCr ratios within the first week of life, which trended down within the second week."

Discussion:

All infants studied had a PDA during the first two weeks of life, which was managed conservatively. In these infants, we observed high BUN/ SCr ratios within the first week of life, which trended down within the second week. The combined mean BUN was 34 \pm 22 mg/dL, and the combined mean SCr was 0.82 \pm 0.32 mg/dL, which were higher than reports from previous studies regarding the same gestational age (GA). (3,4) Zhang and Zeng (3) reported a mean SCr of 69.7 µmol/L (0.79 mg/dL) within the first 24 hours of life in healthy control groups, whereas infants born with a history of perinatal events had a mean SCr of 85 µmol/L (0.96 mg/ dL) within the first 24 hours of life. The mean BUN levels reported were 5.26 mmol/L (14.73 mg/dL) and 5 mmol/L (14 mg/dL), respectively. Similarly, Cuzzolin et al. (4) studied SCr values within the first 28 days of life in preterm infants. In their study cohort, group A consisted of infants born between 22-25 weeks GA. The SCr values within the first two weeks of life among group A were $78.7 \pm 19.4 \mu mol/L$ (0.89 ± 0.22 mg/dl) on day 1 and 84.9 ± 31.8 micro µmol/L (0.96 ± 0.36 mg/dl) at day 14, which were comparable to the values observed in our four cases.

" In our pursuit of a conservative approach, we noted improvement in patients' renal function over time. This ultimately concluded that observed AKI among preterm infants with PDA might reflect renal immaturity rather than pathologic conditions."

Based on the mean SCr levels of 0.82 mg/dL, none of the preterm infants would have qualified as having AKI based on the pRIFLE (pediatrics -risk, injury, failure, loss, end-stage) and KDIGO (Kidney Disease: Improving Global Outcomes) definition. (5,6) Gallo et al. (7) reported 27 % of AKI among preterm infants was associated with medical treatment for a hemodynamically significant PDA. Seo et al. (8) also noted a high prevalence of AKI without any adverse outcome among preterm infants whose PDAs were managed conservatively. In our pursuit of a conservative approach, we noted improvement in patients' renal function over time. This ultimately concluded that observed AKI among preterm infants with PDA might reflect renal immaturity rather than pathologic conditions.

In conclusion, BUN/SCr ratio could be used as an adjunct in monitoring kidney function in the extremely preterm infant with PDA within the first two weeks of life. Further studies are needed to define normal BUN/SCr ratio ranges in extremely premature infants. Table 1: BUN, SCr and BUN/SCr Ratios Among the Preterm Infants

Case 1

Day	BUN	Creatinine	BUN: Creati- nine Ratio
1	17	0.64	26.56
2	51	0.81	62.96
3	81	0.96	84.37
4	88	1.17	75.21
5	83	1.1	75.45
6	84	1.13	74.33
7	71	0.98	72.44
8	67	1.09	61.46
9	58	1.09	53.21
10	40	0.91	43.95
11	36	0.82	43.90
12	31	0.92	33.69
13	39	0.86	45.34
14	52	1.18	44.06

Case 2

Day	BUN	Creatinine	BUN SCr Ratio
1	20	0.79	25.31
2	36	0.91	39.56
3	39	0.68	57.35
4	48	0.66	72.77
5	41	0.62	66.12
6	40	0.62	64.51
7	29	0.68	42.64
8	21	0.59	35.59
9	13	0.58	22.41
10	8	0.6	13.33
11	6	0.45	13.33
12	13	0.63	20.63
13	17	0.56	30.35
14	18	0.54	33.33

Case 3

Day	BUN	Creatinine	BUN SCr Ratio
1	31	1.15	26.95
2	40	1.44	27.77
3	43	1.35	31.85
4	45	1.3	34.61
5	43	1.17	36.75
6	38	1.23	30.89
7	33	1.17	28.20
8	32	1.14	28.07
9	25	1.08	23.14
10	22	1.09	20.18
11	33	1.34	24.62
12	34	1.19	28.57
13	32	0.93	34.40
14	37	0.91	40.65

Case 4

Day	BUN	Creatinine	BUN SCr ratio
1	17	0.69	24.63
2	22	0.63	34.92
3	27	0.68	39.70
4	26	0.56	46.42
5	25	0.39	64.10
6	21	0.34	61.76
7	17	0.19	89.47
8	13	0.25	52
9	13	0.3	43.33
10	12	0.26	46.15
11	11	0.3	36.66

BUN: Blood Urea Nitrogen, mg/dL

Creatinine, mg/dL

SCr: Serum Creatinine

References:

- Meena V, Meena DS, Rathore PS, Chaudhary S, Soni JP. Comparison of the efficacy and safety of indomethacin, ibuprofen, and paracetamol in the closure of patent ductus arteriosus in preterm neonates - A randomized controlled trial. Ann Pediatr Cardiol. 2020;13(2):130-135. doi:10.4103/ apc.APC_115_19
- 2. Totapally BR, Machado J, Lee H, Paredes A, Raszynski

A. Acute kidney injury during vancomycin therapy in critically ill children. Pharmacotherapy. 2013;33(6):598-602. doi:10.1002/phar.1259

- Zhang Y, Zeng HH. Renal Function Profiles in Preterm Neonates With Birth Asphyxia Within the First 24 H of Life. Front Pediatr. 2020;8:583540. Published 2020 Oct 30. doi:10.3389/fped.2020.583540
- Cuzzolin L, Fanos V, Pinna B, et al. Postnatal renal function in preterm newborns: a role of diseases, drugs and therapeutic interventions. Pediatr Nephrol. 2006;21(7):931-938. doi:10.1007/s00467-006-0118-2
- Askenazi DJ, Ambalavanan N, Goldstein SL. Acute kidney injury in critically ill newborns: what do we know? What do we need to learn?. Pediatr Nephrol. 2009;24(2):265-274. doi:10.1007/s00467-008-1060-2
- Sethi SK, Bunchman T, Chakraborty R, Raina R. Pediatric acute kidney injury: new advances in the last decade. Kidney Res Clin Pract. 2021;40(1):40-51. doi:10.23876/j. krcp.20.074
- Gallo D, de Bijl-Marcus KA, Alderliesten T, Lilien M, Groenendaal F. Early Acute Kidney Injury in Preterm and Term Neonates: Incidence, Outcome, and Associated Clinical Features. Neonatology. 2021;118(2):174-179. doi:10.1159/000513666
- Seo ES, Sung SI, Ahn SY, Chang YS, Park WS. Changes in Serum Creatinine Levels and Natural Evolution of Acute Kidney Injury with Conservative Management of Hemodynamically Significant Patent Ductus Arteriosus in Extremely Preterm Infants at 23-26 Weeks of Gestation. J Clin Med. 2020;9(3):699. Published 2020 Mar 4. doi:10.3390/ jcm9030699

Conflict of Interest Disclosures (includes financial disclosures): The authors have no conflicts of interest to disclose.

Funding/Support: No funding was secured for this report.

Contributors' Statement Page: Dr. Hernandez and Dr. Manzar conceptualized the study, drafted the initial manuscript, and reviewed and revised the manuscript.

All authors approved the final manuscript as submitted and agree to be accountable for all aspects of the work

NT



Briana Hernandez, MD PGY-1 Pediatric Resident LSU Health Sciences Center 1501 Kings Highway Shreveport, LA 71103



Corresponding Author



Shabih Manzar, MD Clinical Associate Professor LSU Health Sciences Center 1501 Kings Highway Shreveport, LA 71103 Telephone: 318-626-1623 Fax: 318-675-6059 Email: shabih.manzar@lsuhs.edu

Fellow's Column is published monthly.

- Submission guidelines for "Fellow's Column":
- 2000 word limit not including references or title page. Exceptions will be made on a case by case basis
- QI/QA work, case studies, or a poster from a scientific meeting may be submitted..
- Submission should be from a medical student, resident, fellow, or NNP in training.
- Topics may include Perinatology, Neonatology, and Younger Pediatric patients.
- No more than 20 references.
- Please send your submissions to:

Elba Fayard, MD, Interim Fellowship Column Editor or Japmeet Sandhu, OMS IV Fellowship Column Assistant Editor LomaLindaPublishingCompany@gmail.com